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1. The Joint Commissioner’s Report
i. Was the first colonial report on Malabar.
ii. Explained reasons for agrarian unrest among Mappila Muslims.
iii. Was brought out in 1792 — 93.
A) All of the above (i, ii and iii) B) Only ii and iii
C) Onlyiandii D) Only i and iii

2. The Second Kerala Provincial Conference held in Palghat in 1923 passed a resolution for
i. Equal participation of Indians in administration.
ii. Mutual harmonious relationship between Hindus and Muslims.
iii. End of exorbitant export duties.
A) None of the above (i, ii and iii) B) Only i
C) Only ii D) Only iii

3. The movement that was a part of the formal programme of the Non Co-operation
Movement.
i. Drive against liquor consumption.
ii. Move to remove untouchability.
iii. None of the above.
A) Only iii B) Only ii
C) Only i D) None of the above (i, ii and iii)

4. The activities of the Chittagong Rebels were characterised by
» i. Group action aimed at the colonial State.
ii. Participation of young women.
iii. All of the above.
A) Only iii B) Only ii
C) Only i D) None of the above (i, ii and iii)

5. What is to be done ? was
i. The basic text of the Mensheviks.
ii. Against ‘legal Marxists’ and economism.
iii. Charter of demands submitted to the Czar.
A) Only i B) Only ii
C) Only iii D) None of the above (i, ii and iii)
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1. 620 Saflaemoes fleajods
i. melenodlemendl.oles EEIHENM eB:0eaeMIM (e jods @pwlemmy.

ii. @oafle mpfemaesiswlen d:oBatle: @URONTIWeS £:006Me3Wd QflvaEledlay.
jii. 1792 — 93 @ e@-06eMmAIM®).
A) aeEl@d altoemm agygloo (i, i, iii)
C) i, ii agorilcu mo(@o

2. 1923-® alomeadldd msam eeeoo eB:e8 (elaflvy memamo saiimow 6@} (Ieawo

B) i, iii egyarilal @o@o
D) i, iii agyorilcu mo@o

IOl
i. BEEMEME DA ENHIMOS @)el) alEdglamo.
ii. adlaaeesio mygflemaic manilepss aleqye cwoedla Bas eniauo.
iii. eedl®n® SO GlEIAIWOS @PQUMOIMo.
A) oyl esosieiideamaid sanagl (i, ii, iii)
B) i mo@o
C) ii mowo
D) iii @o@o
3. aflqgand:oem (lmoomenian evalalode al@laloSlees @AW (alnadmo.
i. asjalomemilemailocwes leso.
ii. ©mIgLENSOY MlBeo 6.21QPMER Mileec.
jii. el aloemmOl BATAEL

A) iii ao@o
B) ii mo(@o
C) i mo@o

D) mesld ewosiemildeamaid eammag (i, ii, iii)

4. afigenoced’ Aflamaes EIAIREBMETRCD
i. edocgoemlo@ eaudlom elesidlisian af iab@mmo.
ii. @IS alBoglemo.
ii. qeel@d alosmmala@gioo.

A) iii ao@o
B) ii ao@o
C) i @o@o

D) ayesld ososiemidlesmaia emmagy (i, ii, iii)

5. aiog ennav s} enfl aend ? ag)mm@ @oWloyrm)
i, enmMecuafleane-aes @sIaquoom [DMOo.
ii. MfnaI00® MOREIABBEN0 MOMIATIBAIEETIMIC ag)Efe.

iii. avadfley (Czar) modqflay epalcEBRIes 210850, ¥
A) i oo
B) ii oo
C) i @mo@o
D) el ewosieridemmaiad eamyagy (i, i, iii)
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6. The Directorate of Enforcement is empowered to
i. Investigate the offence of mone
exchange laws.
ii. Investigate governmental corruption.
iii. Investigate cases of tax evasion.
A) Only i B) Only ii
C) Only iii

y laundering and violations of foreign

D) None of the above (i, ii and iii)
7. Which one of the following se

quencing is correct according to the layers of
Atmosphere ?

A) Stratosphere — Mesosphere — Exosphere — Thermosphere — Troposphere
B) Troposphere — Stratosphere — Mesosphere — Thermosphere — Exosphere
C) Mesosphere — Troposphere — Exosphere — Stratosphere — Thermosphere
D) Thermosphere — Stratosphere — Mesosphere — Troposphere — Exosphere

8. Aravally range is the oldest mountain range in India. Which one of the following
statements is not significant about Aravally mountain range ?

A) Aravally range became a barrier during mansoon, so mansoon clouds move
east ward towards and nurture sub Himalayan rivers and feeding North Indian plane

B) Aravally becomes a block between Thar Desert and North Indian plane
C) Aravally acts as a separation wall between North and South India

D) A greener Aravally acts as a ground water recha

rge for the region facing acute water
scarcity

9. Straits are thin water bodies that Separate main land and connects two major ground wat
* resources. Bosporus strait Separates Asian Turkey from European and it connects
A) Black Sea and Sea of Maramara
B) Atlantic Ocean and Mediterranean Sea
C) Black Sea and Arabian Sea

D) Mediterranean Sea and Baltic Sea

10. Which condition (Temperature, Rainfall an
for wheat cultivation ?
A) Temperature — 22 — 32°C; Rainfall — 150 — 300 cm; Soil —
B) Temperature — 27 — 32°C; Rainfall — 50 — 100 cm; Soil —
C) Temperature — 20 — 2
soil — loamy soil
D) Temperature — 10 — 15°C (sowing time) 21 —
Rainfall — 75 — 100 cm; Soil —

d Soil type) among the following is better

inferior alluvial or loamy soil
5°C (mild cool and dry climate); Rainfall — 40 — 45 cm;

well drained fertile loamy and clayey loamy
A=

deep clayey and loamy soil

26°C (Ripening and Harvesting time)
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6. ag)eanygonid A@OBEISHIM @RUlE:00mene

i. ®a8a6mo oA fleedd, aflesrmosmy aflrla awasmaies elocaimo MSEEI® BlQ
ByOITBUD @OEM jaH]B6)36.
ii. Reed ERYami @EMjaHlHN)E:.
iii. oAl Oaigla] eBre:@ @OEM e H:.
A) i momo B) ii mo@o
C) iii mo@o D) oyegll@d atosmmau emmag (i, i, iii)

7. @omdledeElean alogle:denmuadlal ey alo@imaliad ag@moen dlwow @ao ?

A) poegolebd — eacmomfled — ag@emoqfled — emdenonflad — esoeatomflad
B) asocatonfl@d — (poegomfld — eacmonfled — emdeaomflod — agesemoniad
C) easmoqflad — esoealonflod — ageemonfled — poegonflad — emdemonflab
D) emdeaoqflod — (poegomfled — eacmonfled — ¢socaloqflod — ag@emonilad

f@rmémﬂs)su a@RAUe alvsnmas aldaimalowosn @pealg]. eoalgl aldaimaleawendla]

@269 |0@MAUIE [ lowamdIREMm® a@maem ?

A) aerdmoend maen) @eealg] aIdqimlest 6o @sqmoe] dlairlepam. @eaimond aendauend
GQCRITBA H1PEHNIG MIETBIMY, &HJSOO® Hal ablMOAIRM MElG:08 MPAUSDOMIEW)0
OB D MAMAIGIM) BHHEMo MEBBEWI0 6-2IQPMM)

B) @oeag] modanedsn semenan i mamaimmimio sswlepas 6o msmaow alelaiepam

C) somenm o aexdleemaniwio manlepss caldaldenam acflaow] aponlg]

(U @TDlonM)

D) mesimo® geiesomo emdlsym (alecnoniad andesl Gloiodeow alajopes @ooag]

(ol @EDleaM

- ldwam @iallo® eald@ldlenmmo M6NE (alwom BINABREI ahMMIALOVEMETBHS 61Ul

aflENM®m@OW eMAE® RLIODWETBRET BSElS)HE. GENINMINaNNIM &Seflsies agat M
®do6l0@ @00 l@ aflon saudaildleanmmy, @oe om snuaWlalleaomy.

A) &dlisselo meoae :sejjo

B) @rgenggles mayeage eauligeoml@m @seyo

C) sdismseno @oomilenseyo

D) eaafigeoai@m ssaljo eniodgles @selo

- 8U0OMT Byjadlles) MIOY a IOWMAIDIED aR® @AITOIET (®oalmlal, oy, agilend ®eo)

MElmY ?

A) moalaflel — 22 — 32°C; av — 150 — 300 cm; @pveadlo e:sllagpio alvdlacoudiwe aflosmm
)

B) m%fmﬂm — 27 - 32°C; o9 — 50 — 100 cm; mo¥m aey) @oegie@d agendd aem

C) moaliaflel —20 —25°C (dloaow memem®io Qlesmad® &aoalmn); ag — 40 — 45 cm;
@) — alUdlaEudl a6y

D) moaiafle — 10 — 15°C (alegum mawo) 21 — 26°C (#00e:d afle@ym mawo);
oy — 75 — 100 cm; aep — mmo@i aifl.af aneigeflationc® alullacorfiwye eelagpio
afloenmm aludlardudlejoe
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12.

13.

14.

15,

Following is the list of Hydro Electric Projects in Kerala. Which among them is the -
Hydro Electric Project in Idukki district ?

A) Lower Periyar, Neriyamangalam, Panniyur, Sengulam

B) Sholayar, Sabarigiri, Peringalkuthu, Kalladi

C) Idamalayar, Kakkad, Sholayar, Idukki

D) Pallivasal, Kuttiadi, Malakavu, Sholayar

Basin Countries of Bay of Bengal

A) India, Sri Lanka, Malaysia, Bhutan, Bangladesh

B) Bangladesh, Nepal, Sri Lanka, Myanmar, Andaman
C) Bangladesh, India, Indonesia, Myanmar, Sri Lanka
D) Myanmar, India, Pakistan, Indonesia, Malaysia

Which of the following statement is/are true in the case of recent Indian labour market
A) There has been tremendous change in India’s Work Force Participation Rate
after 1990
B) Female Work force participation has been quite high in India
C) Both A and B
D) Neither A nor B

NABARD (National Bank for Agriculture and Rural Development) is an example for
A) Non-Banking Financial Intermediary

B) Banking Financial Intermediary

C) Statutory Non-Banking Financial Organization

D) Statutory Banking Financial Intermediary

Which of the following statement is/are correct about the assessment of five year |
plans in India ? |
. The Second Five Year Plan was a big success despite the scarcity of foreign exchang
reserve.
Il. The Second Plan was based on Wage Good Model. .
lll. The First Plan was a great success as the production targets were more than fulfilled
A) Only (I and IlI) B) Only (IlI)
C) Only (Il and 111) D) Only (1)

-6-



117/22-M

11, esoaonien RelOeIBR® alALEHaIes aldld: IO HdE:IS)HOM). @RI a@®osem
ensie6il lploilenl ReIOeIBH® alaLEl ?

A) ®mo¥m eald@od, eamaimowmelo, ealonrlw)d, oalsgo

B) @anogwod, verudluildl, HaldleoB@eanm, @pid]

C) 0sneiwod, £:860S, Gxog@Id, eSS

D) aigslalomd, #3Q10S], mele-oal, Gauogwod

12. 6niomo@d pidsnselle eemnimilad oo \eoBud
A) soomy, GBlels, MERIaY), BISOM, NIoYRIGRUY
B) enloggocaws, emajocd, wlelss, apmdad, eadwwao
C) enloggoeaud, amy, ENEOmOEMany, a0Mab, el
D) apdad, soany, aloslamnom, Heanoemay, MGRIaH

13. avdlaieoel aniid emoIdd allatenflwies #0001 ®6Pa|OWINM (IMPIIME:S]E
QR®O6M/ a@OMIOBH@IEM Cd] ?
A) 1990 oy evvatio M I@6S H@IFIABEIVMO alsmoglem mloesied alellw mogayensowf
B) lemovleing) almoslamo snamyfi@ aigao s@dmmmosm)
C) esneio (A @yo B @jo)
D) A cwo B cwo @ogy

o 14. meniodaw’ (Moaem@ enlo®s Gandd @o(IleB2yd @MW 0J0@ eaalalainand)m’ ey
©BOaOEMMAO6M
A) emosnd entosellowd adlmomdar @ ena@ddlaufi@d]
B) enuomilows adlmondauyad snapdailasi@d
C). quorusal emaer-eniosslowd adlmomdas @ BBMNEEMETVAHMD
D)! aoRusAl enipmslowy adlmomauy@d enaddallauids

. 15. spamyafieal alemiaiene alabaie-ges afleidoema aosnimulla] moevajowam

(IIQUMBE @ aRmIem Ll ?

l. @6n200 aleiENE alaval alelle aflzenodiiem), AlleBromosm ) H:IMT &:Homo

- 9enz0wiglo.

Il. equzd v @ome> EESINNOMAILSIWIESMIET MENE00 alAL.
lll. e@ajoam ele:uiemBwd B1SIO@ ahd@Ble:dlajailmont smoo alavall alm Aflzaoaioymy.
A) | 8o lll 9o momo B) Il @o@o
C) ll o lll 9o mo@o D) | mo®o

A 7
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16. Of the following which is not a major area of work related to the Department of
Investment and Public Asset Management (DIPAM) that comes under the Union
Finance Ministry ?

|. Strategic Disinvestment.
Il. Recapitalization of Public Sector Banks.

Ill. Minority Stake Sales.

IV. Asset Monetization.

A) Only (I and ) B) Only (Ill and IV)
C) Only (1) D) Only (1V)

17. Of the following which is/are not included in the list of centre indirect taxes subsumed
in to the Goods and Services Taxes (GST) in India ?
l. Entry Tax and Entertainment Tax (other than taxes levied by local bodies).
Il. Excise duty levied under medical and toilet preparations.

lll. Service Tax.

IV. Tax on Lottery, Betting and Gambling.

A) Only (I and IV) B) Only (I and Il
C) Only (Il and ) D) Only (Il and IV)

18. Which is true according to the Gender Gap Index 2021 prepared by the World
Economic Forum ?

A) Norway is the most gender equal Country and Pakistan is the least gender equal
Country
B) Iceland is the most gender equal Country and Afghanistan is the least gender
equal Country
-C) Finland is the most gender equal Country and Afghanistan is the least gender
equal Country

D) Bhutan is the most gender equal Country and Pakistan is the least gender equal
Country

19. “Free and Compulsory education of all children in the age group of six to fourteen
years” is guaranteed under which Article of the Indian Constitution ?

A) Article 22 B) Article21 A C) Article 32 D) Article 42

20. The Writ of Habeas Corpus can be issued against

A) Private individuals only .

B) Public authorities only

C) Both Private individuals and Public authorities

D) It cannot be issued against Private individuals or Public authorities
A -8-
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_16. s wmaEmaEla’ S i Wl pdsemf eoad decginadd ey alepiles

17.

18.

19.

@omg moemznad@aoal (DIPAM) enlcweqes (lwom (IQUIBEHM CABIRIDELINED ®IOY °
ajo@maifiad ag@moem ?
l. ®malenc® aiessalo allg¥lendd
Il. ©alomEREILD MIOBYEEOS aM:ALILMAIBLHOEMO.
. mymalest 69a0@ alladajm.
IV. @i wmrmiaemo.
A) | 9o Il 9o mo@o B) Il o IV 80 mo@o
C) Il oo D) IV mo@o

061968053 Aldl@eR MA@ eyl 2l carvalm afle)afle-gld (GST) eeq i@
WI5Ie8 GH(B aléooeH MilB@loaes algleoldd ORBOQSITHE® aG®oem ?
I. (ealnm dleyeiole aflemos mle)eieio (Mg quNdalmeIBdd 2 JaEmIT rilees) @il
a916d).
Il. enuflenm, esowalg ®@IO0SIapEwes) H:I¥ICh opaGrmIm g) @068 @l
. eovaim aflesail.
IV. gelogdl, alomeaia], -2a®moge agamiai@es aflee.
A) | 80 IV 90 mo@o B) 1 &0 lll &0 mo@o
C) 1l o lll o mo®o D) Il o IV 9o mo@o

BB e68eMOiles 80000 MPIOIBEA eflot QUM Mol 2021 (185000 a@@mIeT
wdl ?
A) emodeal agaaloe ellomMamIaEs E0Re, alddsmNdm a@RAje LA06MTD eflomamimes
(R3]
B) engmiainmus aggalo elonmamiaias 0o, @adcoiauadm agRalo L3060
eflotnIAMIAEE 000
C,) adlodeinddad agraio ellow @elmI® @IE)0, @Padmnfimadm a@Ra o LLO60TD eflotrmomines
@Oy ;
D) @500 a@gaio Elomamioss ®g 0, alodslmaom apRAlo S306D eflommomimes
@I£RJ0

“@R0 Q@@ al@flmoa) AIEIAINE@IAE ag)RI B e@BBa0 MIRM 0o Mideninilmanow

Qi oE§Mo” MM EEEMLISM@ROS aR® @RALBERD (alB:00m06M HOq Y M@EYM® ?
A) eoddlesiad 22 B) eodglesiad 21 A
C) moddlesid 32 D) motdlesid 42

20. gaoefl@m ee:0dae M dl aosqisiaflencnyme) eodessaiean ? g

A) 00y QlBBIE:MBH6 @@

B) 6atom) @ulle:0dle:tdes) mo@o :

C) mus00y ljenileaio alo®) @ule:odle:alo

D) (o800 QLiemilo:de£e0 alom) ERUse:0Ble:Been0 ag@ion 0@ o j0O|SIlesn0ad
¥laflpl
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22.

23.

24.

25.

26.

27.

28.

29.

Separation of judiciary from the executive is guaranteed under
A) Article 30 B) Artcle 14 C) Atrticle 50 D) Article 51

In which of the following cases did Justice K. S. Hegde observe that Fundamental
Rights and Directive Principles of State Policy constituted the ‘Conscience of the
Constitution’ ?

A) Kesavananda Bharati vs State of Kerala

B) M.C. Mehta vs Union of India

C) Mohini Jain vs State of Karnataka

D) D. K. Basu vs State of West Bengal

The word ‘Integrity’ was added in the preamble of the Indian Constitution as per
which of the following Constitution Amendment Act ?

A) 42™ Amendment Act B) 44" Amendment Act

C) 1% Amendment Act D) 1039 Amendment Act

The division of powers between the Union Government and the State Governments
is dealt under |
A) 7" Schedule B) 6" Schedule  C) 9" Schedule D) 10" Schedule

Which of the following is the National language of India ?

A) Hindi

B) Malayalam

C) English

D) There: is no National language of India as per the Constitution of India

According to Article 124(2) of the Indian Constitution, the age of retirement for the
judges of the Supreme Court of India is
A) 62 B) 65 C) 67 D) 58

The ‘Statue of Unity’ is located in which of the following Indian State ?
A) Bihar B) Karnataka C) Tamil Nadu D) Gujarat

Which is the book published by Kerala Sahitya Academy and cor'npiled by Thrissur
District Administration about Kerala floods ?

A) Pralayaksharangal B) Pralayakazchakal

C) Kannerkanal D) Mahamari

The State Government seeks legal advice from whom ?

A) Attorney General B) Governor .,

C) Chief Secretary D) Advocate General
-10-
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Rl iGlow ag)dmilepglaad alo caudealsiemma 90a ]} M@BYM@
A) epddglesd 30 B) eodglesid 14 C) @oddsesia 50 D) eoddesid 51

MomOuom MOETOR avafle:00le006mmal0 MdnMIdean ®®EBaI BOEM RISMWHS
2m:8flO® Oalnes)ElloaT MM 6. ag)m. Haowew Al 2@ ®oevajowm
a@® ee-ileioe’ ?

A) em00010Mm BOREH VS 6608 Muoauaomo

B) ago. M. samm vs e soad soamy

C) e20adl0fl 6D VS @:06mass: Muomnomo

D) adl. o. enimy VS eaigy eniotnod muotunomo

DHADYD BOEMARISN@OS ERWRIOT@ ‘TAD®’ ag)m QUGS e2ld@vfldlenm® ®moew
alOW}M gY@ BOEMPLISM GRANMS MR IB:00m6m ?

A) 42-20 eeaunal allwno B) 44-20 ceanai mlono

C) 1-20 eeen@i dlono D) 103-20 eeanal dloao

EH(B MVALHOM0 VMO MALOIBRl0 ®arflenss @UWle:00 aflegmo
(0182000 EOBB:0040 6).21QIMY.
A) 7-% eaxawud B) 6-%0 @axawy® C) 9-00 s)namu‘gcfé D) 10-% eaxiawycd

®2692|0@MAIDIE ai@oem HAMIWIOS ERUTIw By ?

A) adlad

B) aeiwogo

C) sogflasd

D) soomyad BOMARISM (al000 DANIVIE CRUdlR Boaxwig)
v coeMeaISmELeS @RRSled 124(2) @rmymidlal; ey quyallo essosilalen gased]

200)6s 'Alodlen@ (@lowo
A) 62 B) 65 C) 67 D) 58

@021y 8%ad @eigl qudiall .0190m eamyWilnal oaunsmo agmosn ?
A) nflanod B) ®denose, C) omdl¥mos D) uzoomm

EL080IOR! (LSO MosnITUll.a] 6608 Moadlm, @oeedad my 030 fl.op @yomd el @oasal
leRaHM (at2idlafl.oj®im0® alapso agmoeny ?

A) (8wIssEeTBGD B) (18wenodaiedd .
C) sepflde-mad D) aanomod

@Mouaom MAdLedd @l aflemosm mlwemoaieamo cmsymMa) ?

A) @pegodeni mom B) waudemd

C) aflad &muegd D) @pawpeseeg @mom
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30. Lokayukta can resign by submitting resignation to

A) Chief Minister B) Governor
C) Speaker D) Chief Justice of High Court
31. Name the Solid Waste Management Project started by Kudumbasree.
A) Niyukti B) Thelima C) Thalir D) Sampoorn
32. Kerala State Commission for Protection of Child Rights came into existence on
A) 2004 B) 2005 C) 2013 D) 2012
33. In State Civil Service, Class | and Class Il employees are known as
A) Gazetted Officers B) Non-Gazetted Officers
C) Government Officers D) Non-Government Officers

34. Which of the following statement is/are false about Ascorbic acid ?
i. It shows antioxidant activity.
ii. Itis a strong reducing agent.
iii. It can be synthesized in the body.
iv. Involved in hydroxylation of prolyl and lysyl-residues of collagen.

A) Onlyiand ii B) Only ii and iv
C) Only iii D) Only i, ii and iv
35. Which of the following is the main thinking part of the human brain ?
A) Hind brain B) Cerebrum
. C) Mid brain D) None of the above

. 36. Which of the following statement is/are correct about ‘One Health’ approach ?

' i. The objective of the concept of One Health is to improve human and animal health.
ii. ‘One Health’ programme is mainly concemed with the health of human beings only.
iii. It involves medical professionals only.

A) Only ii and iii B) Only i
C) All of the above i, ii and iii D) Only i and iii
37. Which of the following increases your risk for type 2 diabetes ?
A) Not getting enough exercise B) Eating too much sugar
C) Being over weight D) Aand C

38. A project offering free treatment for all children (below 18 years of age) in Kerala
irrespective of their income status is
A) Arogyakiranam B) Amrutham
C) Aardram ' D) Aswamedham
A -12- . "
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30. ea@:Wsm ERAL6ET g Madallenime ?

A) oeyo B) maidemd
C) qflend D) e6anee60sai allad gl

31. @010y @DOoE] e elomaellmy MoaPEEM alALEIwes Gald ?
A) ol B) emdln C) osld D) avmpdeny

32. e®08 MomNdm ERIORIDAIB:OMD ModEEM ddlastad mleinfled alame) |
A) 2004 B) 2005 C) 2013 D) 2012 |

v33. avorunom milafld@ cudallmii@, gomy |, gom Il ellaimenad aedleeaqismae |

A) wavga 9eapmauad B) emosmd-mmgal’ peapmaund '
C) mdenad oeapmand D) avdenodime 9easy0wmnd

»34. mpmies:0denile; @amilullomsndla] ®eYalowim (IMRIAIME:ElEd agmosm/
¥ ofO@OOBOHWOET HMRIW® ?
. @OFE0BmIM (IQIBEmMo B06Ileam.
ii. em@OW eOWMIes ogeadosem.
iii. 0@ vudloemilad cvamieilaflencdd e¥lago. .
iV. 608020 claloesaelomwio aelmim @paluslaysBRINSWI0 HHAOEEIE;IGEIaHUICd |

OUWBOQISIM. I
A) i 9o ii 9o mo(@o B) ii 80 iV 0 mo@o |
C) iii mo@mo D) i go ii 80 iV o mo@o | |
35. amieyy aqfloag@mile @lwom olanoedto @Y alOWMAIWIE ag@oen ?
A) adld mele.ajod B) eavdlenio | |
C) dlay meieafod D) meeld alosmmal eommey il
36. ‘enEer0y aflaInemmEMnC.o] ®269a 0@ ([ IMOAIME:ElE oR®IeN)/aRO®OBH@IEN) .l
ol ?
I. ‘80 @EdMI0’ ag)(M ERUWETHIONR ik jo MMIAHIAIOSWI0 MYNETRROSWIo @GN0 ll
00260 |SIEHIMEI). |
ii.! ‘s0y @e0wI0’ ag)m al@lalos] ([@IWImMmOWo MMAHJOIOS EREOINIJANMOW _
NI |S®I6EN. !i
iii. &aWlen@d 6l010anaHEMERE:(D MI(®o HWWeA|SIIM]. |
A) ii 80 iii 9o mo(@o B) i mo@o ,
C) mesl® atoemmaleweloo (i, i, i) D) i go iii o mo(@o '
37. ©269q oM@ c@®oem aflemBaies eS| 2 (IERaOEIMEs @oald:S MIW® QldaU] ﬂ;,
aflenymaey ? |
A) ealsne(@® alp@ono aidleannrilg) B) @odlmmow] alermimon &¥lenmma M
C) mrdl®meono D) A @jo C @po 8

v 38. ce0gaienl ag)gl Sgle:idenio (18 aloqiln moerwganid) @almes aleymom lal ald
werilenoam qoEmy 2flelamn adwBIMo 6.1QRMM B0} alELE.
A) @BEEIMN, Hloemo B) @oaymo
C) @od@o D) @oweawo |‘
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39.

40.

41,

42.

43.

44,

45.

46.

The Hubble constant has the dimension of .
A) Time B) Mass C) Distance D) Frequency

An eye specialist prescribes spectacles having combination of diverging lens of focal
length 10 cm and a converging lens of 40 cm. The power of the lens combination
in diopters is

A) 7.5D B) -7.5D C) 12.5D D) —-12.5D

The kinetic energy of a body increases by 125% due to change in velocity. The
momentum of body changes by
A) 150% B) 25% C) 50% D) 225%

Which Scientific payload from India was employed in Chandrayaan — | Mission to moon ?
A) Chandrayaan —| X-ray Spectrometer (CIXS)

B) Moon Impact Probe (MIP)

C) Moon Mineralogy Mapper (M3)

D) Radiation Dose Monitor (RADOM)

The gas possessing highest value of Root Mean Square (RMS) velocity at a definite
temperature is

A) Hydrogen B) Oxygen

C) Sulphur dioxide D) Carbon dioxide

Which among the following elements have the highest metallic character ?
A) Na B) K C) Li D) Rb

The relative order of acidity of the oxy-acids of chlorine is

A) HCIO>HCIO,>HCIO_>HCIO, B) HCIO<HCIO,<HCIO,<HCIO,
C) HCIO>HCIO,>HCIO>HCIO, D) HCIO>HCIO,>HCIO,>HCIO,

Which of these two institutions collaborated for India Innovation Centre for Graphene ?
A) CUSAT and C-MET

B) Kerala Technical University and CUSAT

C) C-MET and Digital University Kerala

D) Digital University Kerala and CUSAT
-14- L]



39.

40.

41,

“42,

v 43.

— 44,

45.

~ 46.

aoendld qudlos:@rsflay 6@ @ogayeE.

A) qvawo
C) a0
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B) aflemwo
D) @oayon

€an000@ eled® 10 emvd@laigd alyei.aielesim eeaidmyoe 40 omBlalgd @erdecidzflowy
ORIMBM0 €21BMM LEPSHR B0} EN@ERINANBLELM afldeguilenom. awewoaigoesleal

SRIMBIY MoCIRMEONM alQ)d @
A) 7.5D B) ' -7.5D

C) 12.5D D) —12.5D

lleaumneiion aogo #006mo rdloadilen malleeodmse 125% udaslesm).

A) 150% B) 25%

. dloEweanR @oeno @I Mm030M.

C) 50% D) 225%

21w — | avmyeid almaileass soom i wlames age) vo(le calsaioawoem

9ale@ousl o @ ?

A) 2l — | aggs-eo omewaind (CIXS)

B) ayend snoatossy eetoent’ (MIP)

“C) ayerd dlmenoged moq|d (M3)

D) eoauflemasnd sawomy emoeniigd (RADOM)

80} dluaile 9vagoaled g weond miwd (RMS) EQUN®LOS aBRQo HS@DM aalmes

QUO®B:0 aR® ?
A) e8a0zm
C) miand wewossemas

B) eoglzad
D) ®:00enie avewossesmas

®IOY alOWM m;a}oegsmg'lm% @6 a@RAe OB 6RO MVIEIAINER® ?

A) Na B) K

C) Li D) Rb

el eogloomiluwsaies @mmilulgdlees eeaiese: @ao @6.

A) HCIO>HCIO2>HCI03>HCIO4
C) HC|03>HCIO4>HCIC)_>HCIC)2

B) HCIO<HCIO,<HCIO,<HCIO,
D) HCIO>HCIO,>HCIO,>HCIO,

A SN OAVRD Ga00d (Noadl@OW aOE:El.0 PeE uAdn IMETRD agymoen ?

A) #ymoglo mil-eagio

B) e®0g mosm:aile mdaleenmosimio )VOgL0
C) mi-eage eons allega @emleausmiiglago
D) esmng wlsigad @yerleausmidl@yo eumogo
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47. ‘Once there lived a woman who restrained herself from the stringent rules of caste system
While she was carrying a child, she broke the caste law by drinking water from a pof
made of arecanut leaf being used by an outcast. Annoyed by this incident the head o
the family killed her. The villagers came to the conclusion that the assassinated womer
must have emerged as a Goddess. Her Theyyams performed in every year in the montkh

of April’.

The above description is related to which of the following Theyyam in Kerala ?
A) Padamadakki Bhagavathi B) Padikutty Amma

C) Manakkot Amma D) Puthiya Bhagavathy

48. Which of the following statements is/are related to Sunil Chhetri ?
i. Sunil Chhetri is nick named as ‘Sikkimese Sniper’.
ii. Only Indian Player to be inducted in Asian Football Hall of Fame.
iii. The first footballer to receive Khel Ratna Award.

A) ionly B) iand ii only
C) iii only D) All of them

49. Read the following statements and then choose the correct answer.
i. The Bharat Bhavan is a cultural institution, set up in 1984, with the aim of
leading and encouraging such a symbiosis between communities and cultures.
ii. The Bharat Bhavan instituted a ‘Vivarthaka Ratnam’ Award for Best Translator.
A) Both are true B) Only statement i is true
» C) Only statement ii is true D) Both are false

. 50. Match the following :

i. A. T. Kovoor a. M. Vasudevan Nair

ii. Cynic b. Abraham Thomas

iii. Kaanam c. K. M. Mathew

iv. Ekalavyan d. E. J. Philip
Select the correct codes from below :

i i iii iv .

A) d b 8 c

B) a c d b

C) b a d c

D) b a (& d

A -16-
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_47. “e) 081 200 QlImoees £38600R MwasBEM dlar (ko amENE H:Fwa 80}
() ehlafl.ofleamy. @I 6®) apemilem ndeo wdlafleym H0LIO); B OISO
ealewoullafaymm e®ogendl E0RIeS alo(@ @@ oflars ealego #ydlaf 2wl afleno glooeiloy.
60 (oEAETHE @OGRIMOORS £n)S106NIMOLOND @OALOE OE:IM]. OSOZYOHS oy a®
EeIEOWOR] HRBMM} AUATIElEHEMo ag)tm BoamEi@ (0BaMER ag)@ml. agglo
QAo o@all@d aomEmilanem ERAIYOS ODYETBRD EOOCETBOYMN® .
aeefler aflaieemo @6 AIO@IMAIDIE cL8mtien oR® oW eTnelw] enIWeR @6 ?

A) aisasss eI B) atodlengl @oon
C) @emeeenog @omm D) apeil@ emaid

A48, ®06% alo@mID@d ag@oem) muiled 0@ aimweq|dldeaymo 9
i, ‘rflesiialo eaqRald’ agomosm myaflcd cao@l@)es afldea|e.
ii. a0)SeeNIoM andM Boad OanWilal@d mso MLl a@d> AT ®O®O.
iii. eau@oan @AM AIEl 2] @AY aISEMIOND ®IRO.
A) i moo B) i 8o ii 9o @o@o
C) iii mo@o D) ayeeladd m@elafidlenmalewgioo

v 49. 069 0@ (aIqROIMBD 0W2] AW OO0 BOEETMSIBOL:.
i. LEYEOWETBRI0 MVOMROOETBAL0 ®aflenss ErEmOeMmI) MWaOABEMI®OGD N HNEHW0
Glalomruoadia feaeio 6.21Q)> ag)M BlBHIEOINIES, 1984-@ cunoa le@ow 6} MLIomROdie:

00 IMMIENT BOAMENOIM.
i. o eamd des.a) aldeme:mes ‘alladcme a@n’ @RAIORA agdeq|SyETD.
A) eemslo todleosm B) (aiayocim i mo@aoeny cod]
C) @Eumyocum ii mo@aosm vl D) eenmsio 6®mE6M

o 50. ‘moevajomymal 621000l G2 IABND:.

i. ag). <. e00d a. ago. QMREAAIM mowd

ii. amfladlees b. ag)enianoo c@ORM
iii. #06mo C. 6d. ag)o. MY
iV. ag@eialym d. . om. adlefla]

©069 ailam RAWIW EH:0WIEWD THEOETHSIENE:.

i i i v
A)y.dr btHa c i
B) a c d b
C)b gesid c
D) b a c d
A 17-
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51. On rewriting 0.3, 0.6, 0.75, 1.01 in the rational form, we get

52.

53.

54.

55.

56.

Si7.

58.

59.

60.

3 33100 3 23 101
A 105399 B) 10'3°2’100
3 3.3 101
C) 9_’?_ E m D) ey e i
10'3'4’ 99 10 54 100
Find the value of x such that 93 = 274,
1,18 i o 2 e
o )= 5 ) 18
Compute (20 + 4) x 6 — 1 where + means +, x means — and — means +.
A) 0 B) 1 C) 2 D) 3
Predict the next two terms of the sequence 2, 3, 106, 177, 5618, 10443.....
A) 277954, 661137 B) 297754, 616137
C) 279754, 636117 D) 254977, 673116
; . 77 : .
The area of a giant pizza slice making an angle 60° is 3 cm?. What is the radius of
the pizza slice ?
A) 14 cm B) 3cm C) 11cm D) 7cm
Pick the odd one from 0.6, 0.60, 0.66, 0.666.
A) 0.6 B) 0.60 C) 0.66 D) 0.666

Product of n numbers is 1155. Sum of these n numbers is 27. Find the value of n.
A3 B) 4 C) 5 D) 6

Raju walks 3 m from his office in the North direction. He turns left and walks 3 m.
Then he turns right and walks 1 m. How far is Raju from his office ?

A) 4m B) 5m C) 6m D) 7m

P is the wife of B. Husband of C is D. B is the son of D. Then how'is P related to C ?
A) C is the mother-in-law of P B) P is the mother of C

C) Cisthe aunt of P D) P and C are not related

If CAT is WCD, PEN is QGQ, then TIX is
A) KAU B) AKU C) AUK D) UKA
18- ’
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51. 0.3,0.8, 0.75, 1.01 @emiaaoao® eaiemd aflereio g FAOUEMID, NS LIEBOIMD

.3 33100 g 23 101
A 10°5'4" 99 B) 10°3'4"100
3 23100 333101
) 10'3'27 99 D) 10°5°4’100
52. 9¢8 = 27* @p@I@ X-6f @yeljo ag)® ?
18 = 5 =
Al B) 5 Clo D) 78
53. + agmom +, X agMmoa@d —, — agymO® + @@ (20 + 4) x 6 — 1 DEMBNLNB>.
A) O B) 1 C) 2 D) 3
- 54, 2, 3,106, 177, 5618, 10443, ..... G URETIRLOS @RS Q6NE @EOEIBUD B6n2iafiSlens:.
A) 277954, 661137 B) 297754, 616137
C) 279754, 636117 D) 254977, 673116

T
55. @oOl® U(UIl EBOEMLENBIBNM B0 Al20#00m0® aflq Satiemadiled aflaqgldepo “3°

ea@lalgd aiapeey@iiailenem. allqy SaUEMOTHOR @0 ag)@@oem ?
A) 14 exod@algd B) 3 equ@algd C) 11 ecvaglalgd D) 7 ecva@ldlgd

56. 0.6, 0.60, 0.66, 0.666 agilaudi@ alan al (RO TOOTHELEOE:.

A) 0.6 ~B) 0.60 C) 0.66 D) 0.666
57. N auo6eaes mnyerii@mo 155 @enm. 00 N MoaIBIES OROBOm)®: 27 @M. N-R aeljo
L 66NREN®:.

A) 3 B) 4 C) 5 D) 6

58. o) ®OR soadidl@d aflars aises dledieaiss) 3 allgd mSHnM. @O EDSCADDHE)
ey 3 dllgd msemmy. aflom @oald auelemmos @idlensy 1 aligd msenamy. o2l
goadlil@ aflon ag)@ ayeeiienen ?

A) 4 digd B) 5 aligd C) 6 algd D) 7 algd

59. B ayes coaywoem P. C @es cdamoatosns D. D @ies aemoem B. @o@odd Pagyssom
C @00 eniawee|Sldleeymy ?
A) P oips @mooloom®oem C
B) C wes @oanwem P
C) P wyes eoanocfi@oen C
D) P wio C wjo @ani@d enuawalg)

60. CAT agyma’ WCD ag)emjo, PEN agma QGQ agyomye apeems@ TIX agome
A) KAU B) AKU C) AUK D) UKA
A -19-
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61. Under Section 164 of the Code of Criminal Procedure, 1973
A) Only the statement of a person produced by the police or investigations agencies
can be recorded
B) Statement of the person approaching the Magistrate independently can be
recorded
C) The statement made need not be voluntary
D) The police officer is authorised to record the statement

62. Which of the following statements holds true for the Magistrate’s power to send an

accused to remand under Section 167 of the Code of Criminal Procedure, 1973 ?

A) If the investigation is not completed within 60 days, the accused must be released
on bail

B) The maximum period of remand in police custody cannot exceed 15 days, after that
only sending to judicial custody is possible

C) The maximum period of remand in judicial custody cannot exceed 15 days, after that
only sending to police custody is possible

D) If the investigation is not completed within maximum period of 90 days, the accused
must be released

63. Usually a copy of F.I.R. is filed with the Magistrate having jurisdiction to take
cognizance, by the police officer in compliance to

A) Section 156 of Cr PC B) Section 157 of Cr PC
C) Section 158 of Cr PC D) Section 159 of Cr PC

64. Select the correct statement.
"A) Sexual intercourse by a man with a woman with or without her consent when she is

under the age of 18 years amounts to rape

B) Sexual intercourse by a man with a woman of any age without her consent amounts
to rape

C) Sexual intercourse by a man with his own wife under 15 years of age without her
consent is not rape !

D) A and B both are correct

65. X, a surgeon, in good faith communicates to his patient his opinion that he (patient)
may not survive. The patient dies in consequence of the shock{ng communication.
X is guilty of
A) Murder
B) Causing death by negligence
C) Culpable homicide not amounting to murder
D) No offense

A -20- i
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61. 1973-68 @An@ msals] aigewilen 164-00 Qidyal @le000
A) caloeflero @pemjetem aREdMile:680 aN0EOBHM G0} O | 0l@6s H@OY] MO(@ED
EREUAQ SO B}
B) mmmacd aglemudem avdlallenm QEI@IHS OR0Y] COEIORSIEMIMD £:¥1w)
C) msafl@ (aIqpoalm jeaw®d 988mofdlenemeamilgl
D) emo¥l 06lqlsiemom caloellny eajomauam @0USB:00m6eNe

62. 1973-eal (BHIAm@ msais] aigonilea 167-00 Qldafl (e000 &} (eflo® Glaomausleelss
@H0MEes aedeREleR Eruile:0Eml ®e? oM@ ag@oem todl ?
A) 60 dlamesimes@ @eemaxemo aljderil@ossiailegiela, (I@flO® 220m @Toilad
aflgwenemo
B) el exguausiaion alomoaius Slmomday soeieeal 15 daimnemid esee), @aimieuoato
" po@en eUSlan i@ HaRUloi@ @e@End MOuflee)
C) mflany® exguasiaienl atoaoaiul dlaodday eoeiaal 15 dlalnemiled esa), @
M)BUato MO(®ED catoaflay eguasieiad @RQEHIMD UL}
D) alemocuufl 90 dlaimasimesied @oemjeyiemo apdelessialegsld, oo
allgwensmo

63. owonem@odl F.I.R. 6@ 80} aldda] ®69e]0@m age £006080D a10all.o)e)dB:06Ns06M
catoellay geapmmam eeoselwia madefleayme ?

A) Cr PC-ojes equexsid 156 B) Cr PC-ayes equasad 157
C) Cr PC-wjes exvaesum 158 D) Cr PC-ayes emuexa 159

. 64. AW (ITYOQUM TREETTNSIENE:.
A) 18 cuqiim moerwes 8o} (NS MGENDONSERI @ORIOMEWO 630} aIHD NSEHMN
£6RI0UIBENITWO ag)ME ERILIECMETNT @ERoe
| B) & aleiud @aiges nmodgoe® oge®eslego (aetie)es (e eeeslousle:
eIMWETAG a@dOa|SIMEY enialELNENIM @)el |§@O6M
C) 15 cxq@ia) @oeveies aquKmo @00 @)W 60} alOiHM @IS mnenAlgRe® eeeloUse
enITWEBAE a@dOa|SIMNE) MUIRIEIVCNAE]
D) A @jo B wjo aensio cadleosem

5. X agm udmd, ma@ cooufles @eaieflallendcm Hlogm @@ @oEllo®o Mgl
9EEEEMes @IRflenamy. eemglafleniom eproaldloeee el eooul
adleemmy. X BYRSOHOOMIE).

A) 68:08Ial0®E:0
B) @oweavoleioes aeemo

 C) #p#0m0@ Moadmy OB:0BlIa0DBODTM @@l - -
D) #igog ' | |

A 21-
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66.

67.

68.

69.

70.

i I

72!

73.

A obtains property from B by saying that “your child is in the hands of my gang and
will be put to death unless you send us ten lac rupees”. A commits 1

A) Criminal breach of trust B) Robbery

C) Extortion D) Theft

Section 354D is related to which of the following ?

A) Assault or use of criminal force to woman with intent to disrobe
B) Stalking

C) Sexual harassment and punishment for sexual harassment

D) Voyeurism

The purpose of punishment is

i. Incapacitation ii. Deterrence iii. Reformation iv. Discrimination
Choose the correct combination, using codes
A) i, ii and iii are correct B) i, iii and iv are correct
C) i, ii and iv are correct D) iand iv are correct
Open air jails are setup under what philosophy ?
A) Incarceration B) Protection of society
C) Reformation of prisoners D) Retribution

The basic object of the Right to Information Act, 2005 is

A) To empower the citizens

B) To promote transparency and accountability in the working of the Government
C) To make our democracy work for the people in real sense

D) All the above

Section 12 of the POCSO Act, 2012 deals with
A) Punishment for sexual harassment B) Sexual assault
C) Penetrative sexual assault D) Abetment of an offence

Which statement stands valid in regard with the POCSO Act ?
i. Every crime against children must be reported as per POCSO Act.

ii. Those who do not report sexual offences against children may be punished as per
the Act.

A) Onlyi B) Only ii C) Bothiandii D) None of the above

Section 25 of the Narcotic Drugs and Psychotropic Substances Act, 1985 deals with
A) Punishment for embezzlement of opium by cultivator
B) Punishment for allowing premises, etc., to be used for commission of an offence
C) Punishment for contravention in relation to psychotropic substances
D) Punishment for contravention in relation to poppy straw

-22- .
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69.
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77,
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“mllemBaies &gl ag)em@ mocaieflon eaw:elenaemmio al@melddo 0ol ®TI6EIEld
OBORPOBIMI0 alOeTTIReE:06mE * A -B @@ ailay’ avjer) amsymy. enafles A msomymma .
A) @@ aflwpavelioraimo B) ®qday

C) mdeows)eandd D) emoayemo

aldyal 354D ag)m®) ®o69e]0@MAII@ o@@oel mimuee|s@oem ?
A) Qo @PYEHOMES HEFNEEMINS (166 EMNOOLLES BB(E:06Mo @RI
(1Al@d 6Ll IE@oNo
B) aflamysod
C) eeriotils: aflwmaloe eeelouile: allwmesimes uileuw)o
D) ecanwdimo

WU WOS HEGUJO

i. @flaflgog ii. (oleflemowo

iii. mafe-nemo iv. aflealaimo
G0 E WD O lE@IUSl 2] VAIWOW ELIMINEMaUMD BHEEETMSIHE]E:.

A) i, ii, iii agyorilay vodl@osm’ B) i, iii, iv ag)arilcau codlaoeny
C) i, i, iv agyarilas vodlavoem’ D) i, iv agyorilal codleoeny
&0a e ag)d RWeRBM aR®) GETCd(PEBIN Bl¥lensn) muadall gfldlesmae ?
A) @sal B) avmeomsiien monsemo
C) msays:aes malle:nemo D) (1aflesomo

2005 o2l aflaieoaleow rileamsien @osloundm elesjo

A) a1 (0OBHE:Elenom

B) mdenodlean @iidemmesicd mmoeimmio s@meaodi@male ¢eloeoadia fleas

C) mames 2mouflalmie®® d®o® @d®oETIc 2MeBDLHIWES [ IAIBEBHMO BRHE)E:
D) ayesldd aeosyomildlenma aggoo

2012-6)1 Galos:6m00 mleadwflen 12-00 als)al ag@mod] enimuweasidlesom ?
A) e6eioUile: allawmasimies vilex B) eeeioudleoai@:no
C) mgenmy H@OM 66eI0USle:0w (@:mno D) eygeymyesiad ealoem

Bal0EMI MRAORMIW RITWORS a@® (AITPIUMWOET) (VIUMWRR® ?
I. 5leReEOBI00® ag)RId BQEYMJETBEI0 GaldBEI @D (aldx000 Gléalods 6.01@emo.
ii. #SledosnTlonas 66LIoufle:0ml(@:n6mB@d Glea 0ds 621YPEMmALRHS Mlwd(aledro
Ul RIElBeo.
A) i mo@o B) ii mo@o
C) eemyo (i 9o ii o) D) ayessll@d alosmmal enmagl

1985 -6e1 ModEHH0ZE: (UMY @MU ©6MEL60E(SIAlle: menigyomdam eodaglan

e 25 ag)asilomenydla] (alaflatodlenymy ?

A) &eflencomd alonomaymo @LRPO® dyedl 6.01Q &0l mog muélg:]]mgnnmﬂm 088
Bl

B) ea o3g0 e-21gpmafimoel 9ale@ouflenmaiial aldlovee aymeneal @mialdleanmailmas
Ul

C) eemes96(S2alles nlcodmnsBaimowf enimueq|s eloralm@Tmes Ullest

D) eatoaflompowmoml enimwen|s dloasiccaim@miimes vdle:u
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74. Which of the following statements about the Narcotic Drugs and Psychotropic
Substances Act, 1985 is true ?
A) Consumption of excessive alcohol is punishable under the NDPS Act
B) Recommends treatment/rehabilitation of drug users and punishment for drug peddlers
C) Farmers growing opium are permitted to grow and consume unlimited amounts o
opium
D) Provides different punishment for drug users and drug peddlers

75. The Police Officers and persons undergoing training after selection for appointment
as a Police Officer, shall be subject to the provisions of discipline and are liable to
i. discharge to the best of their abilities their lawful duties in a lawful manner with due
courage, determination and impartiality.
ii. utilize their capabilities lawfully to the maximum for preventing the commission of
cognizable offences and for enforcing the law always.
iii. carry out lawfully or unlawfully the orders of the authorized superior officers,
magistrates and judicial officers.
iv. conduct themselves in accordance with the general or special order issued by the
State Police Chief, while engaging in each duty and on other occasions.
Mark the correct statement/s
= A) All are correct B) Only ii and iii are correct
C) Only i, iii and iv are correct D) Only i, ii and iv are correct

76. Select the correct statement with reference to Section 33 of the Kerala Police Act, 2011.

A) Police may make and keep audio or video or electronic records of any activity
performed by them during the discharge of their duties and such records may be used
in any proceedings in which the correctness of Police action is called in question

B) No Police Officer shall prevent any member of the public from lawfully making any
audio or video or electronic record of any Police action or activity carried out in a
public or private place

C) Only A is correct

D) Both A and B are correct
A -24-
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74. 1985-¢p MORBEHOOZ] B (WM, OBOMVEH60E(S00 N8 aIcodmNETR? L IploIIVE:lelPY)
DIOPAJO@IM (alqpoaimessilad AR®O6EM Ko ?

A) endlearw oa jatomo NDPS tfloaaiseono WBle:10da0mo6N

B) m@mgmmgﬁﬁ@mewooﬂnesgmm@ms_o_ﬂceﬂmm/q_gmmuﬂmocmo, DL .2 ISHODBENES
Ulest agymilat wyatodoe e-21Q)pm)

@OMLOBAYENE
D) awesamqmy Qalewouflenmaidsao DQBRARIT .2JUUSBHDSHE0 QOO 0Bl 315D
M@BeB30m)

75. @atopllony 80admole eatoalltny eoadiqud rleamemiimow HoeatmsEmEIN etratio aidud)
EiMo emgum ealoellny’ peaomaund, @02/SH6) OLJOIMOLRDH6) aflew@oowidseso BLS0O®
(4] eNIOW Jneowfldlen;o.

. @paImes SYlaflon altomoaiu @QUIROS MMI0MIR B:Sme:? Mlacmmymacw
dlafleiad Wemewosio nﬂmweoéw&@mosp Aot lemewos)o B8] HldUSH6)®s.

ii. @fldl.ayAwoaym BYRBYOBRD ms@maimyo Af)gPWEa 0%l Mlwmo Msa flalnsnmaimo
BRAURIOS &:F10):B Mlwaaionow alomoaiws] 9 IBOUSIH6)6s.

fii. @ouseym GREREBJONMOCOSWI0 azfleiny F1o@@0 syauflanyad 8dadlmdaomeswyo
SOMOAYEGD ailemommymaoews rleacleavmoews MSa flel0se)ss. '

iv. &2ewo wgslelege ag @almesmgleyo agdqlsiemioi, momunom saltoaflmy’ emwoall
ajooaisialle) ealmaiow @OORIEIDD (a1ewm 6> somEai @RMIIIDRO (tIB@Y 6.

AW (alqpoaim /@@ @OSQOBOQSIOT)6:.

A) aggivo dlwoem B) ii 9o i 90 mo@o ol

C) iwociii 9o iv 9o oo wod) D) i 80 ii 9o iv 90 ao@o v

76. 2011-6p B8 Gatopflmy’ BOELIOR OV 33-6m al002dwd of tudlwow (apocum
BHlooemmS)H6)6:.

@oegIEI@ aflulewo moegissd DAICEHOIE; ©0csnBUS (rlwaa inmoos afldaflesmaiiad
o’ ey Gatoallmysonmyo BalOmELMETBOS BSWIND aloslgy

C) A mo@moen v

D) Aso B 9o dlwoem’
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_ 77. Which of the following statements is incorrect ?

A) All Police Officers on duty, in their dealings with the public, shall exhibit courtes)
propriety and compassion appropriate to the occasion and use polite and decer
language .

B) The Police Officers shall not use force against anybody or threaten that force b
used or take any adverse Police action or legal action unless it is necessary to carr
out any lawful purpose

C) The Police Officers shall not exhibit special sympathy in their dealings with the victim
of crimes and give due consideration to the special needs of women, children, senia
citizens and the differently abled

D) The Police Officer shall give up unnecessary show of aggression and avoid
intemperate behaviour even on provocation

78. Section of the Kerala Police Act, 2011 states that a Police Officer on duty may
for avoiding disorder, obstruction and danger, regulate and control traffic in any publi
place and for that purpose give reasonable directions to all concerned and they shall b
bound to obey such directions.

A) Section 32 B) Section 64 C) Section 57 D) Section 61

79. A Destroys, deletes or alters any information residing in a computer resource or diminishe:
its value or utility or affects it injuriously by any means will not attract the punishmen
provided under Section 66 of Information Technology Act, 2000.

B : In order to attract the offence under Section 66, the act in question should have beer
committed with wilful intention.
A) Ais true and B is the correct explanation of A
B) A is wrong but B is true
C) Both A and B are wrong
* D) None of the above

i 80. A :Mr. A while searching in internet for booking some air tickets, accidentally is being

taken to a website containing child sexual content by a pop-up advertisement,
wherein he merely downloads a video containing child sexual abuse after seeing it. As
such, he has not committed any offence under Section 67-B of Information Technology
Act, 2000 ? '

B : In the above situation, as Mr. ‘A’ visits the child sexual content website accidentally
and that too by a pop-up advertisement and not want only, it does not attract Sectior
67-B as the offence requires wilful intention.

A) Ais true and B is the correct explanation of A .

B) A is wrong but B is true

C) Both A and B are wrong

D) None of the above
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77. ®969 oM (aIqPOCM L@ R®EM DG ?

A) awypdloflenas ageo catoelims 89adlavdm0e30, OalomEMETBRINOIWIES @IS 80Sa105)Bo6fle,
MmOEEDIM @PMEWIR|MIV 20HPEWe B.2l® SO0 BOMIBMIWE0 (ald:Slaflaneeyo |
@IMJQllo MIMJQRMIW @Y HaIBWIUIHNE:WIo GAMo f

B) catoellov’ pesjommnd @DdeSOBIL)0 EMOO 6nILl(aIEWINo MSOEHEWO @Y CIVMO®
9alewoudleneamm’ Elattem©q s} Oy ewo a@eOlae MRMOMMIMRIW §EGWo
afldqjedlosmmaeial e alegl@ ool msaidiews MlaMSaISIEWO ag)S)Hn) e
621QQ®

C) easallmy peajommnd AR JGIBBHE) EHAWORIGIS (IEDE> @ROANSM ol TON
(s, D0, DM DD, Aemecondllesod ag)MIQURIeS (a1e®, i8> BRI ETRDBSE
@0BAO@OW al@lKemm M@dese:

D) eaelloy peajommand @MU INOW @D(E0EMO HEAIHHHOBHW]O (alEEIaIM@DIE
@REHEALROW Hal@M0Ro Galdeo BFINIOHNEWIo GAlEMo

~ 78. aydloilenes ey gatoallay DEBJOMMAM (@BAELHS, SO, @0ald:So ag)milal a¥101006)
M@flm, agomerllo HalomMNRIOED D®IN®mo AloOlenewlo 6.21g0anmM)0e @
Ml nIMWeR|5 ag)RIIBHe0 MIPWMIW afldeguemBd M@eo0nmMI0 @D @RE®OO
Glos@d @omymElen0d SUIID MOEIDIdleneamML0 eHoasaloelm’ @ody 2011 -6
OMVBHMD alowyamy.
A) emvesind 32 B) emesidhd 64 C) emesid 57 D) emesad 61

79. A @oalysd dlemosmiess age®@lage allaiesIB®d mubloleneewo EDBIOMIHE BB
DORIBCWO 6.2 I1QPHEWO @OATO AYE1EN0 HaIGWOINBHAMEW)I BJORUBER aRe®mEBI)o
flweiled ezoaus0mowf enioullenesewo O21QPM®) OMDa0BERAHD HSEEMORE] @O,
2000-62! &vesimd 66 (al0n0 @B Bl ) aflew@mossgl. '

B : evesiad 66 (ieooaes B3RO RGN, (IT® (IO aM:aydQmOw
DEFNEOMINS 6.21Qdleeemo.
A) A nndwoe, B agma’ A @ies edlwow alludieeemassm
B) A emgoeny agymoed B radlwoer
C) A wio B @0 omgoeny
D) oy ewsosiemildleaymaidd g}

80. A: digyd ‘A’ aflal aflmom denged 68 ©.21gumMellmowl eademeldd alowymaia
SQil@d, 0} Galtoq-@0q | alomiorileyes @oenianaitod DS HROS O6LIUIE: HRRSH6O
@SEVEI© 6303 OB MEICEIHS OB:06NSEaloBYM), @PQIOS @PEGa00 BFle:68 eeriows
200 G0Ja IGO0 6.21gRMM Afluflewo Bemre@ia’ cuaso ALEREaAL 6-21QYH MO(MIETY
O 2IQUM®). @O@)GaI06.], EHMandemaHd OS£:6MIse] @, 2000-0a! aMG:® 67-B
(@000 @PEGan0 B0} HQAR0 6 2Iglgieansd ?

B : eadqjosmm moan.aleyemiad, dlgpd ‘A’ eagleaies eaeoulle: Haase eQminamg
@OS0YlS000] a3dUElen M), @m0 B Galoa-@oa] alomo yeaim, @em am:adajo
@OgL. SRROTIM AM:a BBV HEGUWo @AM IREBBIMIB @e® oML 67-B
@B Vadleeilgl. .

A) A ndwoen, B agma A mies ndlwow allde-eamacss
B) A emgosemasleyo B wdlwosn

C) A @0 B @30 emgosm

D) aye6ldd ewosiemildlenymafi@d lgp b=}

¥
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81.

82.

83.

84.

s o

87.

88.

89.

90.

- 85.

86.

Complete the sentence given below using the proper tag question :
I'm going to get an email with the details,
A) aml? B) isn'tit ? C) am’'nt|? D) aren’t | ?

If | had more time, :
Which among the following is the suitable clause to complete the conditional sentence
given above ?

A) 1 will help you B) | help you 9 | would help you D) | helped you
What is the single word for “a meeting at an agreed time and place” ?

A) plaza B) ginseng

C) rendezvous D) none of the above options

Pay attention to the usage of the word fast in the sentences given below and decide
what part of speech they function in the given order of the respective sentences.
i. If you take the fast train, you should be there in an hour.
ii. Some prisoners began a fast to protest against the appalling conditions.
iii. Many religions require their followers to fast at certain time of the year.
-A) Adjective, noun, verb B) Verb, adverb, adjective
C) Adijective, verb, adverb D) None of the above

Rewrite the sentence below using a single word instead of the euphemism underlined.
The woman next door has just had a visit from the stork.
A) baby B) guest C) dog D) heart attack

Choose the correct form of the verb in brackets to rewrite the sentence given below.
Each of the boys (to be) given a medal yesterday.
A) were B) had been C) is D) was

Complete the sentence given below using the appropriate phrase from a foreign
language used as an English idiom.

He went on about the importance of a sense of duty. |
A) laissez faire B) compos mentis C) ad nauseam D) au fait ‘

Read the'sentence given below and respond to the directions :
Whatever the real origin of the fire, the truth is that it was inevitable, given the near- ‘
drought conditions of the time and the fact that much of the city consisted of densely
packed wooden hovels served by an undermanned fire department.

The word hovels in the above sentence is a synonym of

A) Boxes B) Huts C) Platforms D) Crates

Fill in the blanks with the correct phrasal verb :

If there are any words you don’t understand, in your dictionaries.

A) look into B) lookthemup C) look at them D) look about

Correct the tense using the appropriate form of the verb in bracket.
By this time next month we (finish) all our exams!

A) will be finished B) will finish C) will be finishing D) will have finished
t0gt




117/22 - M

91. ‘GaletRd’ 2g)M alBo alldle oyemma Qg)STBOM ?

A) oaled + & B) eatemd + e

C) oatem + & D) ealend + mscd
92. ‘W3eld:0’ ag)m alcewlleon erdmonas ?

A) »d B) md C) oewmy D) aflayo
93. moevajowiMmaliad Slemdlemd aleowalao aga ?

A) (alad B) wglaoo

C) myeo D) saimaze

94. ‘dlsiend’ ag)m alo agat aLaim ceamwir 9B2anEEMMo6N) ?

A) avellon eniaoyalaimo . B) @eeflo eniaoyatiaimo
C) apms eniagyalaimo D) mapomeeflomo

95, ‘wavewosEdlwaid’ agm @edmoo QUM BgaGo o) ?
A) woatleam B) woavm
C) walaviom D) woalmad

96. ‘myguoeoas’ agom eewnalees @dmoenas ?

A) audepmod afldaladlene B) ayz eoigpse
C) miseno aumyormyes D) modienoeleniw a@dajos

97. ‘UNEASY LIES THE HEAD THAT WEARS THE CROWN’ agymafledd DLIDOg
al@leoat M6 ee:0s)eTEfldlenmMaI@ @lomgo afleesmmsieny ag)sa)es.

A) &ldiso wdlay UBloqy @oelmnmowdleno

B) @paimvaow woqene eldiso wdl afldlesyomae
- C) #ldlso walesym wloqy @emmonoaidenio

D) &ldlsworemo enpalloysIensoeemy

98. moew O0sjewldlenMmaleidd allomio dI® aico TEOETHSIOY ag)9y@)8s.
~A) dldeaisanwoo B) didcaismoawao
C) Aldeaisam0 D) daeai®anno

99. ‘o’ agym alsofla allaidmaigo age ?

A) @oexco0 ~ B) eagyeo
C) cadlaf D) afleyyvo
100. ®9e¢ mmidenmaiwia aflomgo ‘wo@’@yes apgfloo @HloeeTmS)E ag)9)@):.
A) wommd B) wo@ead 4
C) womoal D) womad
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